Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C310702 Date: 25/5/2016
Subject Name: Fundamental of Digital Electronics
Time: 02:30 PM TO 04:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.
Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.
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No. | Question Text and Option.Ysl s\ [Ascdl.

What is the base of octal number?

1. A |2 B. |8
C. |10 D. |16
wlsed oll AT el &l B?
oA 2 B. [8
C. |10 D. |16
Full form of ALU
2. | A. | Arithmetic & logic uniform B. | Arithmetic & logic unit
C. | Addition & logic uniform D. | Addition & logic unit

ALU of Y3 olld cul.

.| A [ wrauNRs & ADSs YRS | B | wruiRs & ABs yle

C. | ABast & ABs YRAF D. 1 ARt & ABs Y@

Which one is known as brain of computer?

3. | A. | Monitor B. | Keyboard
C. | Printer D. |CPU
A §l1Rjere] Glefel sdlHL wlA B.
3 [ A AR B. | 4l-al§
Collector voltage is , When transistor is in Saturation
4. |A. |0 B. | +Vcc
C. |-Vcc D. | None of these
2loofle? AUl Sl & AR sAs2R AR A .
¥. |A |0 B. | +Vcc
C. |-Vee D. | As ua o
Full name of ECC
5. | A. | Error code correcting B. | Error code control
C. | Error correcting code D. | Error control code
ECCq Y3 otld cnl
Y. [A. [ Error code correcting B. | Error code control
C. | Error correcting code D. | Error control code
5 In signed binary number if MSB is 1 then Number is & MSB is 0 then
" | number is
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A. | Negative , Positive B. | Positive , Positive

C. | Positive , Negative D. | Negative , Negative

UBS tlldot3] dloRUL %1 MSB 1 8l dl d oleiR Aol MSB 0 &lal cll
a oleR A 8.

S.

A QAéle, WA WRéla, ol
C. QR4 ANda D. [ addla, addla
Signed binary number is used in .

7. | A. | Ato D converter B. | Dto A converter
C. |A&B D. | None of these
UBeS olladat3 sioRell Gullal Ui a8,

9. Ato D SocléR D to A SocléR
(101010.01)2= ()10

8. | A |[(51.75)10 B. | (660875)10
C. |(12.625)10 D. | (42.25)10
(101010.01)2= ()10

¢. | A |(51.75)10 B. | (660875)10
C. |(12.625)10 D. | (42.25)10
(93)10 = ( )2

9. | A |101101 B. |1011101
C. |1111101 D. | 101111
(93)10 = ( )2

¢. | A |101101 B. |1011101
C. | 1111101 D. |101111
(435)10=( )8

10. | A. | 435 B. | 535
C. | 563 D. | 663
(435)10=( )8

0. |A. | 435 B. | 535
C. | 563 D. | 663
(1011120)2=(_ )s

11. | A. | 570 B. | 167
C. |136 D. |412
(1011120)2=(_ )s

4. | A. | 570 B. | 167
C. |136 D. |412
Boolean expression of 3-input NANDgate is

12. [A. [ Y=(A+B+C) B. | Y=AB+C
C. | Y=(ABCY D. | Y=A+BC
3 Solye NAND A&Feq] of(@aust WY 2let Rl

R A [ Y=(A+B+CY B. [Y=AB+C
C. | Y=(ABCY D. [Y=A+BC
Boolean expression of EX-OR gate is
13. |A. | Y=A’B’+AB B. | Y=A"B+AB’
C. | Y=AB+A’B’ D. | Y=AB
EX-OR dltf2o] of(@alot W52 2lat SR
3. [A. [Y=A'B+AB B. [ Y=A’B+AB’
C. | Y=AB+A’B’ D. | Y=AB
14. | How many universal NAND gates are required to develop NOR gate?
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A |1 B. |2
C. |3 D. |4
NOR g5 slatlalcll 3ecll Yollaiet NAND Agaoll 32 ud?
W A ]2 B. [2
C. |3 D. |4
How many universal NOR gate is required to develop NOT gate?
15. [A |1 B. |2
C. |3 D. |4
NOT A&e olsllaal 32l Yolladet NOR 2ol %32 ud?
WA 1 B. [2
C. |3 D. |4
In logic OR operation any one input is 1 then outputis .
16. |A. |0 B. |1
C. |2 D. | None of these
As AR UUAAHL 518 As Sotye 1 8l l uUBaye A
1s. [A. [0 B. [1
C. |2 D. | Qs uel o
Which code is unweighted code?
17. | A. | Binary B. | Gray
C. | Octal D. | BCD
o(lAsttuiell 52 515 WalASes Sls B?
19. [ A. [ Binary B. [ Gray
C. | Octal D. | BCD
From below which one is arithmetic gate?
18. | A. | EX-OR B. | EX-NOR
C. | A&BBoth D. | None
AUARs Afe s B?
¢. |A. | EX-OR B. | EX-NOR
C. |A&BGA D1 as ugl «t@
How many 2:1 Mux required to Develop 4:1 Mux?
19. A |1 B. |2
C. |3 D. |4
4:1 HABA&R slellalall 32cl 2:1 HelAatRe(l 32 ud?
e A 1 B. [2
C. |3 D. |4
32:1 Mux has selection lines.
20. |A. |2 B 4
C. |5 D. |8
32:1HE AU RAset Al sl B?
0. TA. ]2 B. [4
C. |5 D 8
(1111.00),* (1.01)2=( )2
21. | A. | 1000.00 B. |10010.1100
C. | 11101111 D. |101010.0011
(1111.00),* (1.01)2=( )2
24. | A. | 1000.00 B. |10010.1100
C. |111011.11 D. |101010.0011
99 Write down Remainder of (1011101); + (1010); = ( )2

A. [ 0000 |B. | 0101
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| 0100 | D. | 0010
(1011101), + (1010)2=(  )2A™ swUAl.

*2. [ A [0000 B. [0101
C. | 0100 D. |0010
Convert binary number into Gray code: (011110),

23. | A. | 010001 B. | 010101
C. | 000001 D. |010010
olldot3] oloRuiel 5\S irtR $A?(011110);

*3. [A. [ 010001 B. | 010101
C. | 000001 D. |010010
How many bits are there in 1 Word?

24, |A. |1 B. |16
C. |4 D. |8
asul secu ofle sla &2

¥. | A |1 16
C. |4 D. |g
(ABCD)16 = ( )8

25. | A. | (125715)s B. | (175215)s
C. | (625135)s D. | (725115)s
(ABCD)16 = ( )8

U. | A | (125715)s B. | (175215)s
C. | (625135)s D. | (725115)s
Convert Gray code into Binary code:111110

26. | A. |101010 B. |100100
C. | 101011 D. |101101
J8LS ololRe] At oleRUL $A?: 111110

*S. A ]101010 B. |100100
C. | 101011 D. |101101
Find 2’s complement of (10111),.

27. | A. | 01000 B. |01010
C. | 01001 D. |o01011
2’s slnc{lie 0?2 (10111),

*9. [A. [01000 B. [01010
C. | 01001 D. |o01011
(AT2E)16=( )8

28. | A. | (123456)s B. | (123654)s
C. | (654321)s D. | (654123)s
(AT2E)16=(___)s

R¢. | A | (123456)s B. | (123654)s
C. | (654321)s D. | (654123)s
(0.577024)e=(____ )16

29. | A. | (0.8AF7)1s B. | (0.BF85)s
C. | (0. AFBF)16 D. | (0.CDE3)s
(0.577024)s=( )16

R¢. | A | (0.8AF7)16 B. | (0.BF85)s
C. | (0.AFBF)ss6 D. | (0.CDE3)s
According to the Boolean algebra A+1=__ .

30. |A |0 B. |1
cC. |A D. | A

30. | of(@aet Aullotl [Aaur YHId A+1=
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A |0

B.

1

C. |A

D.

A’

According to the Associative Property which expression is true?

31. |A. | A+tB=B+A B. | A+BC=(A+B)(A+C)
C. | A+(B+C)=(A+B)+C D. | A+tAB=A
AARAL A Nudl 0,
3% [A. [A+B=B+A B. | A+BC=(A+B)(A+C)
C. | A+(B+C)=(A+B)+C D. | A+tAB=A
Which Logic gates are require to implement Boolean expression Y=A+A’?

32. | A. | NOT & AND B. | NOT & Ex-OR
C. | NOT & OR D. | NOT & NOR
of(Quet As2Y 2l Y=A+A” sl AAls deFe el €131 aAsla?

3%. [A. [NOT & AND B. [ NOT & Ex-OR
C. | NOT & OR D. | NOT & NOR
From below which term is in Standard SOP form?

33. |A. | AtABC+B’C B. | AB’C+A’B’C+ABC
C. |A’'B’C’+AB’C+BA D. | ABC’+AC+A’BC’
o(lAsuuiell 58 23 2lesS soP Siui B?

33. [A. [A+ABC+B’C B. [ AB’C+A’B’C+ABC
C. | A’B’C’+AB’C+BA D. | ABC+AC+A’BC’

Which method can systematically and easily solve Boolean expression?

34. | A. | Boolean algebra B. | De Morgan’s theorem
C. | Tabular method D. | K’ map
o(Auet As2Y2Aotal RN cailalcll Hi2oll 58 It ARALls B2

3%. | A | oflQaet Aeoll B. | 4l Alolet ydu
C. 1 20yetr 3 D. | siells Au
8 cell K-map have how many variables?

35. [A |4 B. |3
C. |2 D. |1
K-Auul 8 A decll Aldoid eald B?

3w, [A |4 B. 13
c |, D. |
In K-map cell’s sequence is indicating by which code?

36. | A. | Gray code B. | Binary code
C. | BCD code D. | Excess-3 code
K-AuHl Acte{l Alsaoal sls YHIAL e2llacuH wa 8.

3. | A |38l B. | cuaetdl
C. IBcDSls D. | Asqu-3
From below which is not in a standard POS form?

37. | A. | (A+B+C)(A’+B’+C’)( A+B+C’) | B. | (A+B’+C)(A’+B’+C)( A+B’+(C’)
C. | (A’+B’+C")(A+C’)( A+C) D. | (A+B’+C)(A’+B+C)( A+B+C’)
(AUl 56 2 25§ POS Siui aell?

39. [A. [(A+B+CO)(A+B’+C’)(A+B+C’) [B. [ (A+B’+C)(A+B’+C)( A+B’+C’)
C. | (A’+B’+C")(A+C*)( A+C) D. | (A+B’+C)(A’+B+C)( A+B+C’)
In Boolean algebra, AB+A’C+BC = AB+A’C expression indicate which property?

38. | A. | Commutative B. | Distributive
C. | Consensus D. | Absorption
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of(Qet AeHollHl AB+A’C+BC = AB+A'C 58 WUl eald B?

3¢. |A | siydla B. | Slxdlegjdla
C. | Qoo D. | Qodlwlet
In Boolean algebra, A+A’B=A+B expression indicate which property?
39. [ A. | Commutative B. | Distributive
C. | Associative D. | Absorption
of(Aauot AUl A+A'B=A+B 58 YUl g2l B?
3¢. | A | sigdla B. | Sl:dlexdla
C. | AQAda D. | et
SOP function can be implemented by which Gate?
40. | A. | NOT B. | NAND
C. | NOR D. | AND
SOP $s2etal _ Adfeddl srcllie s3l asia 872
¥o. | A | qlle B. | Qos
C. lakR D. | Qo5
A group which has all its values also contained in some other groups is called a
a1 group -
A. | Redundant B. | Overlapping
C. | Rolling D. | Individual
% YuUotl ctl 1 oflost YU wellRl WARAU Ul QA D A YUl YU 8¢
R
¥. A B -
- | AseSee - | allarR@lal
C. 1 Acllat D. | gatslllogauct
In which 2-input Logic Gate both inputs are applied at same level then output is 0?
42. | A. | NOR B. |OR
C. | EX-NOR D. | Ex-OR
% 2 Soiye AFeHl olad Solye AMlet AlYs Add UR A AR %Al wG2Y2 0
A dl A Aea A2 56 B
¥R.
A lalR B. | 2012
C. | Asat-ell D. | Asy-2112
From below which is the example of Sequential Circuit?
43. | A. | Encoder B. | Comparator
C. | Multiplexer D. | Shift Register
(AUl 58 URsle Alsacelladd URsled] Gelgul B?
¥3. | A | AatflsR B. | sid¥ex
C. | nedl@sar D. | allse 2922
In Half Subtractor borrow is implemented by and Gates?
44, | A. | NOT & OR B. | AND & OR
C. | NAND & OR D. | NOT & AND
8l% U s2HL iRl U Aeo(l Heedl aces» scUHl
¥Y¥.
A B,
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A | olle ua AR WAos uA AR
C. | Qos ua AR D. | olle wa Aos
Full adder is implemented by and Gates?

45. | A. | 2-Ex-OR, 2-OR & 1- AND B. |2-Ex-OR,1-AND & 1- OR
C. | 2-Ex-OR,2- AND & 1- OR D. | None of these
$C ASR oletlalall sAL sAL NS ATUN?
A | 2-35u-1R, 23R al 1- B. | 2-3s-20R, 1-301R wA 1-Aos
¥\, E
C. | 2-Asu-202,2-WoS Aa 1- D. | Qs el ol
AR
How many inputs and outputs are there in Full Subtractor?
46. | A. | 2input, 2 output B. | 2input, 3 output
C. | 3input, 2 output D. | 3input, 3 output
$C UOLL52RHL Jecll Holye ua wBeye sl 87
¥s. | A |2 Selye , 2 By B. |2 8aye , 3 wBeye
C. |3 8aye, 2 auBeye D. 13 8aye , 3 wBeye
Find Excess-3 code of BCD number : 1001
47. | A. | 1100 B. |1010
C. | 0011 D. | 0101
BCD olt{? 1001 ol AsA™U-3 ololR s 8?
¥9. A [1100 B. |1010
C. | 0011 D. | 0101
In Half Adder carry’s Boolean expression is ?
48. |A. |A'B B. | AB
C. |A’B D. | AR’
6ls WUl 331 of(Aauet Vs 3ot 8.
¥C. A [AB B. [AB
C. |A’B D. | AR’
Boolean Expression of Difference in Half Subtractor?
49. |A. | A’'B+AB’ B. | (A’+B).(A+B’)
C. | AB+A’B’ D. | (A+B). (A’+B”)
(Aol 6ls AULs2R0U Sl$RoUq] oAl W 2ot 8.
¥¢. A [ A’B+AB’ B. [ (A’+B).(A+B)
C. | AB+A’B’ D. | (A+B). (A’+B”)
1- Bit Magnitude Comparator has AND Gate?
50. |A. |0 B. |1
C. |2 D. |3
1-olle Doefleys 510R2UL decll Aos e sl B?
wo. |A |o B. |4
In 1-Bit magnitude comparator what Ex-OR Gate indicates?
51. |A. | A>B B. |A=B
C. |A<B D. | None
W 1-ole Noefleys s10R2UL WsA-AR A2 g el B?

A. | A>B

|B. |A=B
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Evaluate: (1011), + (1011); + (1011), = ?

52. | A. |101010 B. |010010
C. | 100111 D. |100001
2Ll $A: (1011); + (1011); + (1011)2 = ?

“2. A 101010 B. [010010
C. | 100111 D. |100001
Evaluate: (1101.110), - (100.011), = ?

53. | A. |00110.101 B. |10010.011
C. |1001.011 D. |1100.011
LA §3: (1101.110); - (100.011),= ?

43. [A. [00110.101 B. [10010.011
C. |1001.011 D. |1100.011
Which is the Universal Gate?

54. | A. | NAND B. | NOR
C. | A&BBoth D. | None
(LAt HiYl Yollariet ASe s B?

wy. | A | des B. a2
C. la&Boaa D. | Qs ual o1
POS function can be implemented by which Gate?

55. | A. | NOR B. | NAND
C. |OR D. |AND
POS $52lotal Agedl Srellie 53 asia 82

wu, (A AR B. | Qs
C. |02 D. | Qos
Multiplexer also known as?

56. | A. | Input selection B. | Control selection
C. | Data selection D. | Output selection
HEIWASARA 9 SEAUHL WA B?

us. | A | Satye RAsael 53l RAse?
C. 13 RAase? D. | wGeye RAset
8:1 multiplexer has output?

57. |A. |2 B. |4
C. |8 D. |1
8:1 HEWASARUL 3ecll wBaye &l B?

3. [A |2 B. [4
C. |8 D. |1
Decoder has 3 inputs then find no. of outputs?

58. |A. |2 B. |4
C. |8 D. |16
SlSlsul 3 oty wUlA dl Fecl wBaye slau?

uc. | A |2 B. 14
C. 8 D. 16

59 Which expression is from below indicates De Morgan’s Theorem?

A.

| (A+B+C)’=A".B’.C’ | B.

| (A+B)’=A"+B’
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C. | (A+B+C)=A+B’+C

|D. |(ABY=A"R’

ue.

o(lAsttuiell 53 A0l Sl-1olotall YR B?

A. [ (AtB+C)’=A’.B’.C’ B. [ (A+B)y=A’+B’
C. | (A+B+C)=A+B+C D. | (AB)=A’B’
4:2 Encoder have selection lines?
60. |A. |1 B. |2
C. |3 D. |0
4:2 WAalslsUl Fedl RAsA Aot Sl B?
so. | A |1 B. 12
C. [; D. |0
Solve Boolean expression: AB+ (AC)’+AB’C (AB+C).
61. |A. | AB B. |1
C. |AB+A’C D. | AB+C
of(Qet As2Y 2ot ANCA: AB+ (AC)+AB’C (AB+C).
st [A. [AB B. |1
C. | AB+A’C’ D. | AB+C
In 2-input EX-NOR gate if one input is ‘A’ and other is ‘0’then output is
62. |A. |0 B. |1
C. |A D. | A
2-8otye EX-NOR dgFeui %l As Saye ‘A’ ual ollogl Satye 0’ slal Al
g2, |ABeYe=_
A |0 B. |1
C. |A D. | A
Give the relation between max term(M) and min term(m)
63. |A. | M=m’ B. | M=logiom
C. | M=m+l D. | M=m”"2
AsU (M) Aal Hlot 23(m) cdRAA Aoit sl
$3. [A [M=m’ B. [M=logiom
C. | M=m+1 D. | M=m"2
What is the base of hexadecimal number?
64. |A. |2 B. |8
C. |10 D. |16
&5 HAA A 9 B?
s¥. A |2 B. |8
C. |10 D. |16
1ANDO=
65. |A. |0 B. |1
C. |10 D. |01
1ANDO=
s€U. [A. |0 B. |1
C. |10 D. |01
What is the output of NOR gate when A=0 and B=0.
66. |A. |11 B. |10
C. |1 D. |0
ollR 2ol B2y, wUR A=0 ¥ B=0 &lal AR 8l
ss. [A 11 B. [10
C. |1 D. |0
67. | Find 1’s complement of 0101011
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A. [1110000 B. | 1010000
C. |1011100 D. | 1010100
1’s slic{lile 20? 0101011
$9. ['A. [ 1110000 B. [ 1010000
C. |1011100 D. |1010100
Find 9°s complement of 31
68. A [68 B. |86
C. |70 D. |57
31q] 9°s slincllie 202
SC. A 68 B. 86
C. |70 D. |57
Find 10’s complement of 86
69. A [16 B. |14
C. |12 D. |22
869] 10°s SLcllie W2
s¢. [A. 16 B. |14
C. |12 D. |22
How many bits are there in 1 Byte?
70. [A. 1 B. [4
C. |8 D. |16
1 ollgSeHl secl olle 8lal 8?7
30. TA. J1 B. [4
C. |8 D. |16
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